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The OCC of a dc generator is
called its characteristics.

(1) internal

(2) magnetic /
(3) external

(4) performance

The line representing the critical
resistance of a dc generator

its characteristics (OCC).

(1) intersects
(2) does not intersect
(3) just touches v

(4) runs parallel to

represents the electrical
converted into
energy by a dc

energy
mechanical
motor.

(1) Ebla v
(2) VI,

(3) Egl,
(4) Vi,

For doubling the torque
developed by a dc series motor,
its armature current has to
increase by about

percent.

(1) 100

(2) 75

(3) 25

4) 45 v

3

-A)

When the load is removed,
motor will run at the
highest speed.

(1)
(2)
(3)
(4)

shunt

series ./

cumulative compound
differential compound

The armature torque of a dc
motor is a function of its

1)
(2)
3)
(4)

pole flux
armature current
speed

both pole flux & armature
current

A dc series motor is best suited
for driving

1)
(2)
3)
(4)

lathes
heavy machine tools
cranes & hoists

shear & punches

In a dc generator, the effect of
armature reaction on the main
pole flux is to

1)
(2)
3)
(4)

reduce it
distort it
reverse it
both reduce and distort it v
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The generator has
poorest voltage regulation.

(1) series v

() shunt

(3) compound

(4) over compound

The voltage regulation of an
over compound dc generator is
always

(1) positive

(2) negative /
(3) zero

(4) high

If a field resistance of a dc shunt

generator is increased beyond its

critical value, the generator

voltage

(1) output voltage exceed its
name plate rating.

(2) will not build up. /

(3) may burn out if loaded to
its name plate rating.

(4) power output may exceed
its name plate rating.

The E,/V ratio of a dc motor is
an indication of its

(1) efficiency

(2) speed regulation

(3) starting torque

(4) running torque

G

13.

14.

15.

16.

-A)

The current drawn by a 120 V dc

motor of armature resistance

0.5 Q and back emf 110 V is
ampere.

(1) 20 v

) 240

(3) 220

4) 5

A dc motor develops a torque of
200 N-m at 25 rps. At 20 rps, it
will develop a torque of

N-m.

(1) 200 v

(2) 160

(3) 250

(4) 128

The main purpose of using core
in a transformer is to

(1) decreases iron losses

(2) prevent eddy current loss

(3) eliminate magnetic
hysteresis

(4) decrease reluctance of the

common magnetic circuit

Transformer core are laminated
in order to

(1) simplify its construction

(2) minimize eddy current loss

(3) reduce cost
(4) reduce hysteresis loss
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A transformer having 1000
primary turns is connected to a
250 V ac supply. For a
secondary voltage of 400 V, the
number of secondary turns
should be

(1) 1600 v
@) 250
(3) 400

(4) 1250

A transformer has negative
voltage regulation when the load
p.f.is

(1) zero

(2) unity

(3) leading

(4) lagging

The frequency of voltage
generated by an alternator
having 4 poles and rotating at
1800 rpmis __ Hz.
(L) 60 v

(2) 1200

(3) 120

(4) 450

A 50 Hz alternator will run at the
greatest speed if it is wound for
_____ poles.

(1) 8

(2) 6

(3) 4

4 2 v

(7-A)

21.

22,

23.

24,

If an alternator winding has a
fractional pitch of 5/6, the coil
span is degrees.

(1) 300

(2) 150 v

(3) 30

(4) 60

An induction motor is so called
because its operation is on the
phenomenon of

(1) self induction

(2) mutual induction v
(3) eddy current

(4) hysteresis

The frequency of motor current

in a 6 pole, 50 Hz, 3¢ induction

motor running at 950 rpm is
Hz.

1) 25 V

2) 15
(3) 5.0
(4) 0.05

The torque of an induction motor
Is proportional to

1 =

Y,
2 WV

(3) Vv? v

4 v
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In an induction motor, the ratio
of rotor copper loss and input is
given by

(1) 1/S

2) S v

3) 1-S

S
(4) )

The speed regulation of a
squirrel cage induction motor is
very good primarily because of
its relatively low under
normal operating condition.

(1) rotor impedance ./

(2) losses

(3) power factor

(4) rotor frequency

In an SCR, the function of the
gate is to

(1) switch it off

(2) control its firing

(3) make it unidirectional

(4) reduce forward breakdown

voltages

Reluctance torque in rotating
machines is present, when

(1) airgap is not uniform. ,
(2) reluctance seen by stator
mmf varies.

reluctance seen by rotor
mmf varies.
reluctance seen by
working mmf varies.

(3)

(4) the

@

29.

30.

31.

-A)

For a P pole machine, the
relation between electrical and
mechanical degrees is

2

(1) 6 elec. — Ee mech.
_ 4
(2) 6 elec. — Ee mech.

(3) 6 elec. — PO mech.

P
(4) O glec. = Ee mech. V/

The brushes of a dc machine
should be placed on the

(1) commutator in the inter-
polar axis

(2) commutator in the polar

axis

(3) armature in the polar axis

(4) armature midway between
poles

The main advantage of using
fractional pitch winding is to
reduce

1)

amount of copper in the

winding
(2) size of the machine
3)

(4)

harmonics in the emf

cost of the machine
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The power factor at which the
transformer operates

(1) unity

(2) 0.8p.f. lag

(3) 0.8p.f. lead

(4) depends upon the p.f. of the

load ./

Two transformer are operating in
parallel, their load sharing will
depend upon

(1) cooling

(2) all day efficiency

(3) max efficiency

(4) per unitimpedance ,

The phenomenon of overlap in
converter operation due to

(1) source resistance
(2) source inductance ./
(3) both source resistance &

source inductance
high value of firing angle

(4)

In a step down chopper using
pulse width modulation T, = 3

ms & T, = 1 ms. The chopping
frequency is

(1) 333.33

(2) 250

(3) 500

(4) 1000

(11

36.

37.

38.

-A)

Assertion  (A) Inverters &
choppers used fast
switching thyristors.

Reason (R) : Fast switching SCR
has low turn off time.

(1) Both (A) & (R) are correct

and _ (R) IS correct

explanation of (A).

Both (A) & (R) are correct,
but (R) is not correct
explanation of (A).

(A) is correct, but (R) is
wrong.

(A) is wrong, but (R) is
correct.

(2)

(3)

(4)

In a thyristor, the gate current is
increased, then

(1)
(2)
(3)

anode current will increase
anode current will decrease
anode current will remain

constant ./

(4)

anode current may increase
or decrease

In a 3 phase bridge inverter with
180° mode of operation the
number of thyristor conducting
one time are

1) 1

2) 2

@ 3 v

4) 4
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In a 3 phase semiconverter, the
free wheeling diode comes into
operation only if firing angle

(1) iszero
(2) 1s60°
(3) is more than 60° /

IS more than 90°

(4)

In load commutated chopper, the
commutating element

(1)
(2)
(3)

IS capacitor v

is capacitor & inductor

Is capacitor, inductor and
auxiliary thyristor

(4) depends on load

The commutation method in an
inverter is

1)
()
(3)

line commutation
force commutation

either line commutation or

force commutation v

None of these

(4)

Inverter find applications in
(1)
(2)
3)
(4)

HVDC transmission
UPS

Variable speed ac drives
All of these

(13- A)

43.

44,

Assertion (A) : The circuit of fig.

thyristor will conduct for
180° during positive half
cycle if it is continuously
fired.

Reason (R) : The thyristor can
conduct only when it is
forward biased.

) S
L]

150 1
sizl C-Jt@ :_ 100V

(1) Both (A) & (R) are correct

and (R) is  correct
explanation of (A).

Both (A) & (R) are correct,
but (R) is not correct
explanation of (A).

(A) is correct, but (R) is
wrong.

(A) is wrong, but (R) is

2)

©)

(4)

correct. v

The power factor of a squirrel
cage induction motor is

(1)
(2)
3)

low at light load only .,

low at heavy load only

low at high and heavy load
only

low at rated load only

(4)
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When a synchronous motor is
running at synchronous speed
the damper winding produces

(1) damping torque
(2) eddy current torque

(3) torque aiding the developed
torque

no torque ,/

(4)

In a 3¢ induction motor running
at slip ‘S’, the mechanical power
developed in terms of air gap Pg
IS

(1) (s-1)Pg

Pg
(2) s
(3)

1-SPg
(4) sPg

A ceiling fan uses
(1) split phase motor

(2) capacitor start and capacitor
run motor

universal motor
capacitor start motor

(3)

(4) v

The drive motor used in a mixer
grinder is a/an

(1) dc motor

(2) induction motor
(3) synchronous motor
(4) universal motor ./

(15 - A)

49.

50.

51.

52.

Slip of the synchronous machine
iIs 0.02 and the stator supply
frequency is 50 Hz. What will be
the frequency of the rotor
induced emf ?

(1) 10Hz

(2) 50Hz

3) 1Hz v

(4) 2500 Hz

The maximum power for a given
excitation in a synchronous
motor is developed when the
power angle is equal to

(1) 0° v

(2) 45°

(3) 60°

(4) 90°

A heater is rated as 230 V,
10 kW, AC. The value 230 V
refers to

(1) Average voltage

(2) Rmsvoltage ,

(3) Peak voltage

(4) None of these

The generator develops

electric pressure by

(1) Conversion of heat

(2) Conversion of light

(3) Electro-magnetic induction

(4) Conversion of chemical
energy

an
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(2) 230mA
(3) 23 mA
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R |
A >

F Y V » A _——d - =
2

77 Load

v v

127

R.= 5 Qe@d deerd 3 IWa
VS0 DD

(1) 700 W
) 750W

(3) 800 W

(4) 850 W

56.

S7.

58.

(16 - A)
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The basic elements of an electric
drive are

(1) Electric motor and the
transmission system

(2) Electric motor, the
transmission and control
system ./

(3) The  transmission  and
control system

(4) Electric motor and

conversion equipment

Three 680 € resistors are
connected in series with a 470 V
source. Current in the circuit is
(1) 69 mA

(2) 230mA

(3) 23mA

(4) 690 mA

In the circuit shown, the three
voltmeter readings are V, = 220 V,

V,=122V, v, =136 V

%« Ve »

v hd

If R,.= 5 Q, the approximate
power consumption in the load is
(1) 700 W

(2) 150W Vv

(3) 800W

(4) 850W

(17

56.

57.

58.

-A)

The rotating part of DC motor is
known as

(1) Pole
(2) Stator
(3) Armature
(4) Carbon brush

The two basic components of a
Thevenin’s equivalent ac circuit
are

(1) The equivalent voltage

source and the equivalent

series impedance ./

(2) The equivalent voltage
source and the equivalent
series resistance

(3) The equivalent voltage
source and the equivalent
parallel impedance

(4) The equivalent voltage
source and the equivalent
parallel resistance

The pressure coil of a
dynamometer type wattmeter is

(1) Highly inductive
(2) Highly resistive ./

(3) Purely resistive

(4) Purely inductive
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(2) @pear ped BT B)ToBBT

(3) Bpearelped IS DB, 03 3BD
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Sed W et  @oBoTen

DT’ S UNSBAT, 506

(1) ed Seee3d3
Q3R eD3T

(2) @,00Y8 BB HodS, DTZB

Serismy
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(3) e dfaeasdxig( ©9,0003TF
(4) 2RIRYY drePHhFp e
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() B o 8303, F00n° BeeI
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(il) o= d &0, ag,8r0f JoB S0IS 33,
o = 90° ab® BUHBT.

(iii) ey B FpedeesF NOF AHJHD
o = 180° @wan
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A¥ow BpeIY 180° No3 3.

eI 0o BePIrH JdadeNS

(1) (i), (iv) (2 (iii) 593,

3) (iv) 303, (4) (i), (i)

62.

63.

64.

65.

(18 - A)
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In a D.C. shunt motor, under the
conditions of maximum power,
the current in the armature will
be

(1) Almost negligible

(2) Rated full-load current

(3) Less than full-load current

(4) More than full-load current ./

For starting a D.C. motor a

starter is required because

(1) It limits the speed of the
motor.

(2) It limits the starting current
to safe value. ./

(3) It starts the motor.

(4) None of these

In a single phase full wave SCR

circuit with R, L load

i. Power is delivered to the
source for firing angle of
less than 90°.

ii. The SCR changes from
inverter to converter at
a = 90°.

iii. The negative DC voltage is
maximum at o = 180°.

iv. To turn off the SCR, the
maximum delay angle must
be less than 180°.

Which of the above statements

are true ?

(1) iii,iv. s (2) iiionly

(3) ivonly  (4) i,ii

62.

63.

64.

65.

(19 - A)

Harmonics in transformer result
in

(1) increased core losses
(2) increased IR losses

(3) magnetic interference with
communication circuits

(4) Allof these /

Induction type single phase
energy meters measure electric
energy in

(1) kw

(2) Wh

(3) kWh

4 VAr

When the current through the
coil of an electromagnet
reverses, the

(1) Direction of the magnetic

field reverses

(2) Direction of the magnetic
field remains unchanged

(3) Magnetic field expands
(4) Magnetic field collapses

The ideal OP-AMP has the
following characteristics :

(l) R,=0,A=0,R;=0 /

(2) R,=0,A=m,R,=0
(3) R,=0,A=0,R,=x
(4) R,=0,A=0,R,=
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During open circuit test of a
transformer

(1) Primary is supplied rated

voltage ./

(2) Primary is supplied full
load current

(3) Primary is supplied current
at reduced voltage

(4) Primary is supplied rated
KVA

The main drawback of electric
drive is that

(1) Itis cumbersome drive.

(2) It is costlier in initial as
well as in maintenance cost.

(3) Electric  power  supply
failure makes the drive
standstill. ./

(4) All of these

An electromagnetic field exists
only when there is

(1) Increasing current
(2) Decreasing current
(3) Current

(4) Voltage ./

(21

69.

70.

71.

-A)

An ideal voltage source will
charge an ideal capacitor

(1) Ininfinite time
(2) Exponentially

(3) Instantaneously ./

(4) None of these

An electric motor with constant
output power have a torque
speed characteristic in the form
of

(1) Straight line through the
origin

(2) Straight line parallel to the
speed axis

(3) Circle about the origin

(4) Rectangular hyperbola /

In a common emitter amplifier
the un-bypassed emitter
resistance provides

(1) Voltage shunt feedback

(2) Current series feedback

(3) Negative voltage feedback

(4) Positive current feedback
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Two transformers are connected

in parallel. These transformers

do not have equal percentage

impedance which results

(1) Short-circuiting the
secondaries

(2) Power factor of one of the
transformers is  leading
while that of the other
lagging

(3) Transformers having higher
copper losses will have
negligible core losses

(4) Loading of the transformers

not In proportion to their

KVAratings ./

The gate that assumes the 1
state, if and only if the input
does not take a 1 state is called

(1) AND gate
(2) NOT gate
(3) NOR gate
(4) Both NOT gate and NOR

gate ,

Substances which have
permeability less than the
permeability of free space are
known as

(1) Ferromagnetic
(2) Paramagnetic
(3) Diamagnetic

(4) Bipolar

(23-A)

75.

76.

77,

The capacitance of a capacitor is
the ratio

(1) Charge to potential difference
between plates ./

(2) Potential difference between
plates to plate spacing

(3) Potential difference between
plates to thickness of
dielectric

(4) Potential difference between
plates to charge

The wunit of magnetic flux
density is the

(1) Weber

(2) Weber /metre
(3) Ampere / metre
(4) Tesla v

No-load current in a transformer

(1) Lags behind the voltage by
about 75 degree

(2) Leads the voltage by about
75 degree

(3) Lags behind the voltage by
about 15 degree

(4) Leads the voltage by about
15 degree
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The absolute measurement of
resistance involves the
measurement of

(1) Length and time

(2) Length and mass

(3) Velocity

(4) Either Length and time or

Velocity

If two currents are in the same

direction at any instant of time in

a given branch of a circuit, the

net current at that instant

(1) iszero

(2) is sum of two currents ,/

(3) s the difference between two
currents

(4) cannot be determined

The voltage across a coil when
di/dt = 20 mA/us and L = 8 uH
is

(1) 16 mV

(2) 160mV v

(3) 1.6mV

(4) 25 mVv

In capacitor start single-phase
motors

(1) Current in the starting

winding leads the voltage ,/
(2) Current In the starting
winding lags the voltage
(3) Current in the starting
winding is in phase with
voltage in running winding
(4) None of these

(25

82.

83.

84.

85.

86.

-A)

To step 120 V ac up to 900 V ac,
the turns ratio must be

1) 75 (2) 750
3 75 v (4 013

In a certain three-wire Y-
connected generator, the phase
voltages are 2 kV. The
magnitudes of the line voltages
are

(1) 2000V

(2) 6000V

(3) 666V

(4) 3464V Vv

How many 200 W/220 V
incandescent lamps connected in
series would consume the same
total power as single 100 W/220 V
incandescent lamps ?

(1) Not possible

(2) 4

3) 3

4 2 v

Two 1.2 kQ resistors are in
series and this series
combination is in parallel with a
3.3 kQ resistor. The total
resistance is

(1) 138Q

(2) 1389Q v

(3) 5700 Q

(4) 880Q

What is the relation between the
fusing current and the diameter
of the wire ?

(1) 1=kd3
(2) I=kd¥2
@) T=kdZ
(4) 1=kd23
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The main function of a fuse is to

(1)
(2)
(3)
(4)

Protect the line.
Open the circuit.
Protect the appliances.

Prevent excessive current. v/

Candela is the unit for

(1)
(2)

Luminous flux

Luminous intensity ,/

(3)
(4)

Brightness

Luminous efficiency

The unit of luminous flux is

(1)
(2)
3)
(4)

Steradian
Candela
Lumen

Lux

The purpose of providing a
choke in a tube light is

1)
(2)
(3)
(4)

To eliminate corona effects
To avoid radio interference
To improve power factor

To limit current to

appropriate value

(27

91.

92.

93.

_A)

If a DC voltmeter is made from
an ammeter having a feed of
100 pA then its sensitivity (in
KQ/V) will be

1) 1
(2) 100

@) 10 v
(4) 1000

In moving coil meters, damping

is provided by

(1) Damping vane in the air
tight chamber.

The aluminium frame of the
coil.

()

(3) Eddy currentdisc. ,,

(4) The coil spring attached to

the moving mechanism.

The conversion time of a 12 bit
successive approximation A/D
converter using a 1 MHz clock is

(1) lpus
(2) 12ps v
(3) 4096 ps

(4) 4095 ps
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The sensitivity of an instrument

IS

(1) smallest increment in the
output that can be detected
with certainty.

(2) largest input change to

which the instrument fails

to respond.

3)

ratio of the change in the

97.

98.

magnitude of the output to

the corresponding change in

the magnitude of the input.

(4) closeness of the output
values for repeated
applications of a constant
input.

The voltage-current characteristics

of the arc welding must be
(1)
(2)
3)
(4)

Exponentially rising
Drooping

Straight line
Parabolic

A low frequency supply is given
to the single phase AC system
for track electrification because

(1) It improves commutation
(2) Increases efficiency

(3) Improves power factor
(4) All of these

v

99.

100.

(29 - A)

CFL means

1)
()
3)

Combustible Fluoride Lamp
Compact Fluoride Lamp
Compact Fluorescent Lamp /

(4)

Combustible Fluorescent
Lamp

If the strands of the fusing wire
are twisted, what happens to the
fusing current ?

(1)
(2)

Increases
Reduces ./

(3)
(4)

No change/ remains same

Depends on the value of
current, increases or decreases

For a current up to 10 A which
material is used as the fusing
element ?

1)
(2)
3)

Copper
Silver
Alloy of lead and tin

(4)

Zinc

Protective relays can be designed
to respond to

1)
(2)

3)
(4)

Light intensity, impedance

Temperature,  resistance,

reactance
Voltage and current
All of these /
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